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Numerical Method HwO08
Partial differential equation
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Example) [t BEFEAIM CHol x=0 HIMd =HE £J| ZHE 0| £,
Hw8 P2 2 052 x=4HAHY y &S FHANL.

i': 23 +12x - 20x+85
dx

FI| ZEH x=00UAH y=1

k[ zf(xi:-_}"i}
k, =f(x;, +h y +kh)

EL= Heun S oHE

® 4T} Runge—Kutta B (classical 4 2} RK &)
Yin = Vi +%(kl +2k, +2ks +ky)h

k] = f(sz.l"j)

. 1 1
k, = f(x; +Eh,}=f +Eklfi)

1 1
ky = f(x; +Ei’i,_1-‘:- +Ekzh)

k, = fx, +hy, + kR
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_Eﬂdouhle HeunDE (double x,double ¥, int n, double xf){

douoble terminal=1;

double h=(xf-x)/n;

dooble yii=0;

douoble yi=y:

donble =i=x;

double dy:

double k1,k2;

cont <<™intial conditioms X1 "<< XI<<"™ ¥i "<< yi<<™ h "<< h <<endl;
ofstream outFile ("result Heun.gxg"):

kKl=fx (xi):

kZ2=fx (xi+h) :
dy=0.5% (kl+k2)*

xi=xith;
outFile << xi <<","<< setprecision(30) << yii << endl;

yi=yii;
terminal ++;

H 44 Eﬂdﬂuhle RungeEuttadDE (double =, double v, int n, double xend) {

retorn yii; 45 double terminal=1;
48 double h=(=xend-=)./n:
47 dooble yii=0;
45 douoble yi=y;
49 dooble xi=x:
50 douoble kl, k2 k3 k4;
51 double dy:
22 cont <<"intial conditions Xi "<< Ri<<™ yi "<« y¥i<<™ h "<< h <<endl:;
53 ofstream ocutFile ("result EE.Lxi{"):
54 -] while(terminal<=n) {
i
1 E2=f=x(=i+0.5%h) ;
T ) E3=f=x (xi+0.5%h) ;
58 kd4=fx (xi+h) ;
L . lobbbOboOOEEEEEEEEEEEEEEEEEEEEEEEE) * (K14+2*K24+2*k3+Kkd) *h;
&0 yvii=yi+dy:
61 xi=xi+th;
62 outFile << =i <<", "<« =etpreci=zion(30) << yii << endl:;
&83 yi=yii;
64 terminal++;
&85 = ¥

a1 retorn vii:
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(NO truncation error)
= T{t7F SOLIE
round-off error2t =7}
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truncation error/t =0{ =L},
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